TRIGONOMETRY
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Values of Trlgonometrlc Ratios
(0° 30° 45° 60° & 90°)
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Trigonometry Table
0° 30° | 45° |60°

0 . 5 2 1
0 % 1 v3  Notdefined

o8 Not defined 2 V2 —2\5 1
1 % V2 2 Notdefined

Not defined /3 1 % 0
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3sectx-yY=o0 1. If 3 sec?’x - 4 = 0, then the value of x ?
(0 < x < 90°) will be :

3 3secx = Y CHSL 12/10/2020 (Afternoon)
) secx=y (a) 15° (b) 45°

3 (c)80° (d) 60°
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ﬂ\i::}":__. 2 If rsin® =1, rcos® = /3, then the value
i = of (V3tan® +1) is :

1 B=x_1 + |
5
(a) /3 (b)
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Mm-1_ 2tan30°
I ?d = %?9— zm(ﬁ(a . 1-tan?30° ~ ?
— 1 2 AR5 SSC CGL 7 June 2019 (Evening)
3 =3 1
(a) 3 ®) 3
m-2

1
= tou2p = tawgy NG @ 75
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4. If x sin60°.tan30° = sec60°.cot45° then
the value of x is :

1
(a) 3 b) 73
el 4 (d) 4.3
AX
gx\]}f X )
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S. If x sin 60°.tan 30° - tan?45° = cosec 60°.
\;::;90° - sec?’45°, then the value of xis :
2

(b) -2
(c) 6 (d) -4
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The numerical value of

HA cos’45° co0s’60° tan?30° sin?30°

- - :
sin’60° sin?45° cot?45° cot?30°

1 3
(a) 17 ®) 2

1 1
(€) 4 (d) 2
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@ The value of sin?30° cos?45° + 4tan? 30°

H-W 1
+ 2 sin’90° + 2c0s90°is :
SSC CGL 7 June 2019 (Evening)
15 47
(@) b) S,
2

(€) 75 (d) 2
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The value of
H-W 1 1
4tan’30°+ 5 sin‘90°+ = cot’60°+sin’30°.co0s?45°

sin60.c0s30 - cos60sin30

is :
SSC CHSL 3 July 2019 (Evening)
3
(a) 17 (b) 4
1 1
- — d) 33—
(c) 25 (d) 33
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a4
—tan? 60° + 3 co0s?30° - 2 sec?30° -
H-w 3

3
a cot?60° is equal to :
SSC CPO 2018, 16 March 2019 (Evening)

8
(a) 3 (b)

10
(©) & (d)

WIS AU
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J X3
The value of
H-W  tan30°cosec60°+tan60°sec30°

sin’30°+4cot’45°-sec?’60°
SSC CGL 4 March 2020 (Morning)

is :

2 32
(a) 3 (b) 3
8 32

© 3 @ o9
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n , 11. The value of
= ,4’)(71- 4 cosec?30°sin?45°+sec?60° .
BX2 - Yxl tan60° cosec’45°- sec’60°tan45° = °
SSC CGL 2019 Tier-II (15/10/2020)
= 6 -_13 x{3B+2)
A3~y ({'3 2) (B4p) @ 3(2++3) () 2(3-2)

= 3({“2) © 23-2 U -3(2+.3)

(ﬁ) ~(2)%
- ?3 ( \‘.3{.1 )
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12. The value of

sin?30°+co0s?60°+sec45°sin45°
secb60°+ cosec30° is :
CPO 24/11/2020 (Morning)

1 1
(@) 2 (b) -2

3 3
(c) “3 (d) 8
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13. Which among the following is an
irrational quantity?
SSC CHSL 10 July 2019 (Afternoon)
(a) tan 30°tan 60° (b) sin 30°

(c) tan 45° g cos 30°
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14. If sin (¢ + 30°) = then the value of
{2 = \|2X2X'3

- 2% x(0<x<90°is:
SSC CHSL 26/10/2020 (Afternoon)
(a) 60° (b) 15°

(c) 45° () 30°

S (43p) = 33 A
| WK T
Sy



15. Ifsin® = /3 cosH, 0°< 6 <90° then the

%}%g- '3‘(3 value of 2sin?0 + sec?0 + sin®. secH +
coseco is:
SSC CGL 2019 Tier-II (11/09/2019)
0= 6o 3+10./3 19+10./3
e @/ m) 122008
2 Sin"60 +Sec6 + Sin6o- Secey +(DSEC 60° 5 5
ey 33+10./3 19 +10./3
25t 9+ %x“ 2% € —3 @ —
T Aty %6
2 T B3
U N4 660
21 dY4 643
: 3048 = 33t
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16. If 3(cot?’gp - cos?g) = cos?p, 0° < ¢ < 90°,
then the value of (tan’g + cosec?op + sin?g)

1§
SSC CGL Tier-11(12/09/2019)

13 61
(a) 3 (b) 12
25 15
(c) 12 (d) a
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_ 2
Cos’@=3wt0-3t0s’® 17. If0°< 0 <90°and cos’0 =3 (cot’0- cos?0),

1 .
then the value of (5 secH + sme) is :
SSC CGL 4 June 2019 (Afternoon)

(@) J/3+2 by 2(2-+/3)
(c) 2(/3-1) (d) J/3+1
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cos’0
cot?’® - cos’0

18. If =3, 0°< < 90° then

the value of cotO + cosec9 is:
SSC CGL 6 June 2019 (Afternoon)

(@) /3 (b) a

() 2.3 @ =
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Sin(A -8)= Sin 30°

0-6=53p 19. If sin ( - @and cos -

Ath =60 where A > B > 0°, andA+Bxsanacute

A = Qo angle, then the value of A is :

SSC CHSL 26/10/2020 (Afternoon)
NCE (b) 30°

(c) 15° (d) 75°
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A+B= 60
A-B8= 30 20.
60+ % B - 60-’30

.2

W+ys < j3g

govt. exz By ADITYA RANJAN SIR

G0 \/5 0 1
If sin = 5 and tan =ﬁ,

then (2A + 3B) is equal to :
SSC CPO 2018, 13 March 2019 (Morning)

(a) 120° _ By 135°
(c) 130° (d) 125°
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ol :.Lg_:Q =S 21. For a and p both being acute angles, it is

qo SO
=30 IS . , ~ 1
B % given that sin (a + p) = 1, cos = .

The values of a and p are :
SSC CHSL 10 July 2019 (Evening)

(&} 75°, 15° (b) 45°,15°
(c) 75°, 45° (d) 60°,30°
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1xlxL-Lx2 + SXI 1 ) = T
V2 (3 V3 . —pr ~C0S — - — sec —
2 2 2x) 22 The value of 2 sin 6 a cot 3 6
= 1-2+35
4 3 L StanE : R
4 A=180
= 3-84S < o + 7 is equal to:
12 12sin — \ Ko 1an
\}/ 2 2 ‘-%_&: Q0
3y O (b) 1 | A _
3| 7 R
(c) 2 (@ a. |
s
§ " ,&:30
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DI d oL
-

The value of 152(sin30° + -
3 sin 30° + 4c0s?45° + .......... + 17 sin30°

+ 18 c0s?45°) is :
(a) an integer but not a perfect square
(b) a rational number but not an integer

\M/a perfect square of an integer
(d) irrational

Qum b[) Nalu~xal numbey = nn4) ]
e 1 -
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24. If x cos60° + ycos0° =3 and 4x sin30° - y
cot45° = 2, then what is the value of x?

(a) -1 (b) O
(c) 1 2
3Hy=3 Q@
N \%_3:2\ ‘
r)( ——
?'\'ly:s
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LS >t 25. Consider the following : 018 "

3-" ﬁ"'l Qolq '
Q cot30°+1
= (BH)" = U283 g/ cot30°.1 - 2(c0s30° +1) 200p

? -
- \@ 2s5in45° cos45° - tan45°cot45° = 0

R-Hs = Q(“%—\-\) . ;1@'3 Lo ) Which of the above identities is/are
-

correct?

AX1X), T (a) Only I (b) Only II
@ o ol \(¢) Both I and II  (d) Neither I nor II
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